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Current goal.

● Continue to smooth out the the “base” run.
● About 8-10 bins need some work to smooth out entire 

function

● Doug request that I change my method 
manipulating my base function
– Instead of changing the coefficients for my original exp.

● Add refitting each time,
– Requiring new intersections and new fit function coefficients

– Apply some scale factor to the “base” fit function  
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Scale the significant by 2
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Scale the significant by 4
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All three: Using scaling factor
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Changed expos and refit: 
second exp increase by factor of 2
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Changed expos and refit: 
second exp increase by factor of 4
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All three: Changing second 
exponential
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